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1. (8 points) Consider the following recursive version of SELECTION SORT algorithm:

1. public static void selectionSort(int[] x) {

2 selectionSort(x, x.length);}

3. private static void selectionSort(int[] x, int n) {
4 int minPos;

)8 if (n > 1) {

6 maxPos = findMaxPos(x, n - 1);

7/ swap (x, maxPos, n - 1);

8. selectionSort(x, n - 1);

9. }
10. }
11.private static int findMaxPos (int[] x, int j) {
12. int k = 3

13. for(int i = 0; i < j; i++)
14. if(x[i] > x[k]) k = 1i;
15. return k;

16. }

17. private static void swap(int[] x, int maxPos, int n) {
18. int temp=x[n]; x[n]=x[maxPos]; x [maxPos]=temp;
19.}
Form the recurrence relation describing the number of element assignments carried out by
the algorithm. Note that the element assignments are in Line 18.

‘ \ ‘\H.JS -

L/ne (g [’,Ao 2 @Q@,«f assig

L,//' Tln) L¢ the nambe f (y/&—_.,j ""‘Sfj"'-%/('& Gam‘ai
o-/(' LJ A/jaf'./[“’ fo/e‘%“"&# LJI"-CI* Jien an a»rf? _Zj_

Syl e

(1) =@
G Ln)= 3*760/0 Nz




Useful Formulas:
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2. (12 points) Solve the following recurrence and express it in terms of Big O() notation:
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